Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3assku 1400563, norunom inf25f 313

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score

329 3:51:07 inf25f_313 3 g++ Partial solution 22 95
259 3:26:00 inf25f_313 4 python3 Partial solution O O
102 1:32:50 inf25f_313 1 g++ Partial solution 13 36
22 0:37:27 inf25f_313 2 python3 0K 28 100

N/A N/A inf25f_313 5 N/A N/A 0 O

231 Texuuueckuii 6amnm
66 MTOTOBHX 6aioB
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[1] #include <iostream>

[2] #include <vector>

[3] #include <cstdint>

[4] using namespace std;

(5]

[6] #define int long long
[7]

[8] const int N = 1906000;
[9] int ans = (int) 1e9;
[18] vector<int> ans_path;
[11] int n2Z;

[12] int ¢ = B;

[13]

[14] void rec(int cur, int pr, int steps, vector<int> path) {
[15] path.push_back(cur);

[16] c++;

[17] if (¢ == N) {

[18] cout << -1;

[19] exit(@);

[28] T

[21] if (cur > N || steps > ans) {

[22] return;

[23]

[24] if (cur == n2) {

[25] if (steps < ans) {

[26] ans = steps;

[27] ans_path.clear();

[28] for (int e : path) {

[29] ans_path.push_back(e);

[38] b

[31] }

[32] return;

[33] }

[34] if (cur % 2 == @) {

[35] if (cur * 2 I= pr) {

[36] rec(cur ¥ 2, cur, steps + 1, path);
[37]

[38] if (cur /2 I= pr) {

[39] rec(cur / 2, cur, steps + 1, path);
[48] T

[41] if ((cur - 1) % 3 == 08 &% pr != (cur - 1) / 3) {
[42] rec({cur - 1) / 3, cur, steps + 1, path);
[43] }

[44] T else {

[45] if (cur * 2 I= pr) {

[46] rec(cur ¥ 2, cur, steps + 1, path);
[47]

[48] if (cur ¥ 3 + 1 1= pr) {

[49] rec{cur ¥ 3 + 1, cur, steps + 1, path);
[5e] }

[51] I

[52]}

[53]

[54] int32_t main() {

[55] int nl;

[56] cin >> nl >> n2;

[5?] r‘ec(nlj _11 9, {}))

[58] cout << ans << "\n";

[59] if (ans » 1) {

[6@] for (int 1 = 1; i < ans_path.size() - 1; i++) {
[61] cout << ans_path[i];

[62] if (i != ans_path.size() - 2) {
[63] cout << " "

[64] b

[65] }

[66] T

(671}
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[1] alph = "ABCDEFGHIJKLMNOPQRSTUVWXYZ" + “ABCDEFGHIJKLMNOPQRSTUVWXYZ".lower()
(2] d1 = {}

[3] d2 = {"~": 52, "~": 184, "_": 158}
[4] d2ks = """~

[5]

[6]

[7] def filld2():

[8] for i in range(52):

[e] dil[alph[i]] = 1

[18]

[11]

[12] def tol@(n):
[13] #n - list

[14] nle = @

[15] for i in range(len(n)):

[16] nl@ += n[i] * (52 ** (len(n) - 1 - 1))
[17] return nl@

[18]

[12]

[20] def main():
[21]  filld2()

[22]

[23] n = int(input())

[24] a=1[]

[25] for _ in range(n):

[26] number = []

[27] s = input()

[28] i-eo

[29] while i < len(s):

[3e] if i + 1 < len(s):

[31] if s[1i + 1] in d2ks:
[32] number.append(di1[s[i]] + d2[s[1i + 1]])
[33] i+=1

[34] else:

[35] number.append(d1[s[i]])
[36] else:

[37] number.append(d1[s[i]])
[38] ie=1

[39] # print(number)

[40] a.append(tol@(number))

[41]

[42] for i in range(1, n):

[43] if a[i] » a[i - 1]:

[44] ind =i -1

[45] break

[46]

[47] for i in range(n):

[48] if i I= ind:

[49] q = a[i]

[5e] w = a[ind]

[51] a[i] = a[ind]

[52] alind] = q

[53] if a == sorted(a, reverse=True):
[54] print(ind + 1, i + 1)
[55] break

[56] a[il = g

[57] alind] = w

[58]

[59]

[68] if _ name__ == "_ main__ ":

[61] main()
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[1] #include <iostream>
[2] #include <vector>
[3] #include <set>

[4] #include <queue>

[5] #include <cstdint>
[6] wusing namespace std;
[7]

[8] #define int long long
[l

[18] struct node{

[11] int v, d;

[12] };

[13]

[14] const int N = 11, INF = INT64_MAX;
[15] int w[N];

[16] vector<noder g[N];
[17] int T;

[18]

[19] set<int> answer;
[20] int mx = -10000000;
[21]

[22] int tme[N];

[23] void dkstr() {

[24] queue<node> q;

[25]

[26] for (int i = @8; i < N; i++) {

[27] tme[i] = INF;

[28] ¥

[29] tme[B] = 8;

[3e]

[31] q.push({e, e});

[32] while (!q.empty()) {

[33] node qi = g.front();

[34] g.pop();

[35] for (node nbr : g[qi.v]) {

[36] if (tme[nbr.v] > gi.d + nbr.d) {
[37] tme[nbr.v] = gi.d + nbr.d;
[38] q.push{{nbr.v, qi.d + nbr.d});
[39] }

[4e] }

[41] }

[42] %

[43]

[44] void dfs(int v, int t, set<int> ans, int res, int c) {
[45] c += 1;

[46] if (c » 18e8) { // oTeeT TOYHO He WIMEHWTCA
[47] return;

[48] i

[49] bool fl = true;

[58] for (int e : ans) {

[51] if (v == e) {

[52] f1l = false;

[53] break;

[54] }

[55] b

[56] if (f1) {

[57] res += wlv];

[58] ans.insert(v);

[59] ¥

[68] if (T - £ >= tme[v]) { // To ecTs w2 Tekyweil BepwuHsl MoxHO ycneTs ofipaTHo
[81] if (res == mx) {

[62] if (answer.size() > ans.size()) {
[63] answer = ans;

[64] } else if (answer.size() == ans.size() &R ans < answer) {
[65] answer = ans;

[66] T else {

[67] return;

[68] }

[69] } else if (res > mx) {

[78] mx = res;

[71] answer = ans;

[72] b

[73] T else {

[74] return;

[75] }



[76]

[77] for (node e : g[v]) {

[78] dfs(e.v, t + e.d, ans, res, c);
[79] b

[8e] %

[81]

[82] int32 t main() {

[83] [/ input

[84] int n, m;

[85] cin >> n >> T »> m;

[86] for (int i = 8; 1 < n; i++) {

[87] cin >> w[il;

[88] ¥

[89] for (int 1 = 8; 1 < n; i++) {

[98] for (int j = 8; J < n; j++) {
[91] int d;

[92] cin »> d;

[93] iF(31= 9) |

[94] glil.push_back({j, d});
[95] 1

[9e] }

[971 ¥

[98] for (int i = 8; 1 < m; i++) {

[99] int u, v, d;

[1@@] cin >> u >» v »> d;

[181] --ujy --v;

[182] for (auto & e : g[u]) {

[183] if (e.v == v && e.d > d) {
[184] e.d = d;

[1@5] T

[186] }

[187] for (auto & e : g[v]) {

[1e8] if (e.v == u 8& e.d > d) {
[189] e.d = d;

[118] T

[111] }

[112] T

[113] I/

[114]

[115] dkstr();
[116] dfs(e, e, {}, 8, @);

[117]

[118] cout << answer.size() << "\n";
[119] int k = 8;

[120] for (int e : answer) {

[121] ks

[122] if (k != answer.size()) {
[123] cout << e + 1 <« ™ "
[124] 1} else {

[125] cout << e + 1;

[126] 1

[127] T

[1281 ¥
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[1] from sys import stdin

[2]

[3]a = list(i[:-1] for i in stdin)
[4]

[5] for i in a:

[e] print(i)
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